
SAP ABAP table PS0160 {HR master record, IT 0160 Family allowance (IT)}

PS0160

CDANF [CHAR (4)]

TPAN1 [NUMC (2)]

TPAN2 [NUMC (2)]

TPAN3 [NUMC (2)]

TPAN4 [NUMC (2)]

TPAN5 [NUMC (2)]

CFANF [CHAR (2)]

CDDO1 [CHAR (4)]

CDDO2 [CHAR (4)]

CDDO3 [CHAR (4)]

CDDO4 [CHAR (4)]

CDDO5 [CHAR (4)]

ITWAE [CUKY (5)]

T500W

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WAERS [CUKY (5)]

 PS0160-ITWAE = T500W-WAERS 
0..N

1
T5ITA1

MANDT [CLNT (3)]

TPANF [NUMC (2)]

ENDDA [DATS (8)]

 PS0160-TPAN1 = T5ITA1-TPANF 

0..N
0..N

 PS0160-TPAN2 = T5ITA1-TPANF 

0..N

0..N
 PS0160-TPAN3 = T5ITA1-TPANF 

0..N

0..N
 PS0160-TPAN4 = T5ITA1-TPANF 0..N

0..N
 PS0160-TPAN5 = T5ITA1-TPANF 

0..N

0..N

T5ITA3

MANDT [CLNT (3)]

CFANF [CHAR (2)]

ENDDA [DATS (8)]

 PS0160-CFANF = T5ITA3-CFANF 
0..N

0..N

T5ITAT

MANDT [CLNT (3)]

CDANF [CHAR (4)]

ENDDA [DATS (8)]

 PS0160-CDANF = T5ITAT-CDANF 

0..N

0..N

T5ITD4

MANDT [CLNT (3)]

CDDOC [CHAR (4)]

ENDDA [DATS (8)]

 PS0160-CDDO1 = T5ITD4-CDDOC 

0..N

0..N

 PS0160-CDDO2 = T5ITD4-CDDOC 

0..N

0..N

 PS0160-CDDO3 = T5ITD4-CDDOC 

0..N

0..N

 PS0160-CDDO4 = T5ITD4-CDDOC 
0..N

0..N

 PS0160-CDDO5 = T5ITD4-CDDOC 
0..N

0..N


